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1. Which of the following are true?

a) cos40° = sin40°
b) sin27° = cos63°
€) sin55° = cos35°
d) sin23° = cos23°
e) sin33° = cos57°
f) tan46° = cot44°
g) sec24° = cosec66°

(i) {af.g} (i) {ab} (i) {d,c} (iv) {b.cefg} (v) {ade}

2. Which of the following are true?

a) tan(90 — 6) = — tan®
b) cos(90 — 6) =cotH
c) cot(90 — 6) =tan®
d) sec(90 — ) =cosecH
e) cosec(90 — 6) =secH
f) cos(90 — B©) =cosH

(i) {a,c} (i) {cd,e} (iii) {fa,e} (iv) {b,d} (v) {b,c,d}

3. Which of the following are true?

a) tan(90 — 6) =cotH
b) cos(90 — 6) =sind
c) sin(90 — 6) = —sin®
d) sin(90 — 6) =cos6
e) cot(90 — 6) =tan®
f) cos(90 — 6) = — cosb

(i) {c,e,a} (i) {cfd} (ii) {a,b,d,e} (iv) {f.b} (v) {ca}

4. Which of the following are true?

a) cosec(90 + 6) =secH
b) cot(90 + 8) = — tan®

C) sec(90 + B8) = — secH
d) sec(90 + ) = — cosecH
e) cosec(90 + 8) = — cosecH

f) cot(90 + 8) = — cotH

(iy {f,c,d} (i) {e,a,b} (ii) {c,a} (iv) {a,b,d} (v) {eb}



. Which of the following are true?

a) tan(90 + 6) = — tan®
b) sin(90 + ) = — sin®
c) tan(90 + 6) = — cotO
d) cos(90 + ) = — cos®O
e) cos(90 + 8) = — sin®
f) sin(90 + 8) =cos®

(i) {b,e} (ii) {cef} (ii) {d,af} (iv) {a,c} (v) {b,c,e}

. Which of the following are true?

a) sin( —8)=-sin®
b) cos( — 8) =cosH
c) sin( —0)=sind
d) cos( — 6) =—cos6
e) tan( — 6) =tan®

f) tan( — 8) =—tan®

(i) {d,b} (ii) {c,a} (i) {d,a,b} (iv) {ab,f} (v) {ecf}

. Which of the following are true?

a) cot( — 0)=—cotH

b) cosec( — ©) =cosecH
c) cot( — ©) =cotd

d) cosec( — 8) =—cosec®
e) sec( — 0) =—secH

f) sec( —0)=secH

(i) {a,d,f} (i) {b,a} (iii) {eb,f} (iv) {c,a,d} (v) {cd}

. Which of the following are true?

a) tan(180 + 6) =tan®
b) cos(180 + 6) = — cosb
c) sin(180 + 6) =cos6
d) cos(180 + 6) =sin®
e) tan(180 + 6) =cotH
f) sin(180 + 6) = — sin®

(i) {c,a} (i) {a,b,f} (iii) {d,b} (iv) {d,a,b} (v) {e,cf}

. Which of the following are true?

a) sin(180 — ) =cos6
b) tan(180 — 8) = — cotH
€) cos(180 — 6) = — cosH
d) tan(180 — 8) = — tan®
e) cos(180 —8) = —sinb
f) sin(180 — 6) =sin®

(i) {b,d} (i) {a,c} (i) {e,af} (iv) {b,c,d} (v) {cdf}



10.

11.

12.

13.

14.

Which of the following are true?

a) cot(180 + 6) =tan®

b) cosec(180 + 6) = — cosecH

d) sec(180 + 6) =cosecH
e) sec(180 + 6) = — secH
f) cot(180 + 8) =cotH

)
)
C) cosec(180 + 6) =secH
)
)

(i) {c,e} (i) {d,af} (i) {b,ef} (iv) {a,b} (v)

Which of the following are true?

a) sec(180 — 6) = — secH
b) sec(180 — 6) = — cosecO
C) cosec(180 — 6) =secH
d) cosec(180 — 6) =cosecH
e) cot(180 — 6) = — cot®

f) cot(180 — 6) = —tanb

(i) {f,b,e} (i) {b,a} (iii)

{c.d}

Which of the following are true?

a) tan(270 + 6) = — tan®
b) cos(270 + 6) =cosB
c) sin(270 + 8) = — cos6
d) cos(270 + 6) =sin6
e) sin(270 + 8) = — sin®

f) tan(270 + 8) = — cotH

(i) {a,c} (ii) {b,c,d} (iii)

{e,a,f}

Which of the following are true?

a) cos(270 — ©) = — sin®
b) tan(270 — 6) =tan®
c) tan(270 — ) =cot6
d) sin(270 — 6) = — sin®
e) cos(270 — 8) = — cosH

f) sin(270 —8) = — cos®

(i) {eb,f} (i) {d,c} (iii) {d,a,c}

Which of the following are true?

a)

b) sec(270 + 6) =cosecH

c) sec(270 + 6) =secH

d) cot(270 + ©) = — cot®

e) cot(270 + ) = — tan®

f) cosec(270 + 8) = — secH

(i) {c,b,e} (i) {b,ef} (iii)

cosec(270 + ©6) = — cosecH

{c.e}

(iv)

(iv)

(iv)

(iv)

{a,d,e} (v)

{b,d} (v)

{b.a} (v)

{a,b} (v)

{c,b,e}

{c,a,d}

{c,d,f}

{a,c,f}

{d,a,f}



15.

16.

17.

Which of the following are true?

a) sec(270 — 6) = — secH
b) cot(270 — 6) =tan®

C) cosec(270 — 0) = — secH
d) cosec(270 — ©) = — cosec®
e) cot(270 — 8) =cotO

f) sec(270 — 8) = — cosecH

(i) {a,b} (ii) {e,af} (i) {d,c} (iv) {d,b,c} (v) {b,cf}

Which of the following are true?

a) sin(360 + B8) =cosH
b) tan(360 + 8) =cotH
C) cos(360 + 6) =sind
d) tan(360 + 6) =tan®
e) cos(360 + 6) =cosO

f) sin(360 + 6) =sin®

(i) {c,af} (i) {b,d,e} (i) {a,d} (iv) {b,e} (v) {def}

Which of the following are true?

a) cos(360 — B) =sin®

b) sin(360 — 6) = — cos®
C) tan(360 — 8) = — tan®
d) tan(360 — 6) = — cotH
e) sin(360 — 6) = — sin®

f) cos(360 — 0) =cosB

(i) {b,c,e} (i) {b,e} (i) {a,c} (iv) {d,a,f} (v) {cef}
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